Al gl 318" i) — s la

Aladly AotV Yy . 1

7l x Ll b st 2ot 3 Al gl 28k gn Wty o) Sy g
A Z L7 iy (o 3 x Jlas 2) 6 LoLeadl o L 5B 3Ly M 3 35l el )

PI 10 galoo oLl Sl 5l S0y (b1 5 3 o312 phols

lnally luiiVl Jyiy

bLii J5) ollaz] (bl i.ed 0] LY Uoal| Ll
09 8 7 65 43 21

0 i
10 2 Z
16 4 1

Ul Jo 3l mys Jgar .2
ol U1 Lt 3 iy Z Ll 3 s (U1 4y ox BLidl 3 s U3 3l gl 16205,

oY bl 35 3) 364 el o B 708 Loy U7 e

el | odo silgedl maigh Jgoae

F=1 o = g lguadl
10 = = A v 5 4 = 2 1

= = = = ™ 0 ™ 1 |olc

= = = = ™ 0 ™ 2 |olc

v I i Z  lole

v I i 4 lole

= = = = 5 lolc

= = = = 2 Lol




100 x (@)...,\\ LgA.JQ\ f\.&\ 308 + 5yl f\.&\ S0 = t))...l\ 3 el g4dl 39\:{):.&3
100 x (42 +32)=
% 76.19 =

100x (g, 2.0 1S3 (W1 351 3, Lol Joll (b1 505) = 5,200 3 1 3, ol el oLy
100x(42+7) =

% 16.6 =

.M\s»u{,zyawdﬁ@,mm?gmwsﬁ\ULMJ:@’c<i



